N f?: W Quiz 22 Q MATH 200
ale:

November 30, 2022
a2
1. (6 points) /(a:+sin2(:v) + cos’(z)) dz = j(}( ~+ | )0{ X = '__%i__ + % - Cj
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9. (7 points)  Suppose f(z) is a function for which f/(z) = 3z 4+ 1. The graph of f passes through
the point (1,3). Find f(z).
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3. (7 points) What constant acceleration will cause a car to increase its velocity from 20 feet per
second to 25 feet per second in 10 seconds?
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1. (6 points) /\/_(14-3: da:—[ ?—[H—ﬂ()ou( f(* + X X)ﬁp
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2. (7 points)  Suppose f ( ) is a function for which f’ — —l—a: The graph of f passes through

the point (2 10). Find f(z)
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3. (7 points) A rock is dropped from a 1600 foot tall building, with an initial velocity of O feet per

second. The acceleration due to gravity is —32 feet per second per second. How long does it take
the for the rock to strike the ground?

V(#) = Sa(f)au'-: §~3zal;t = -39 £+

BU\* 0 = \/[Oj: _32_,0—}*(_ Ji"S() =0 and \/(t):’BZ‘t’
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Thew SC£) = jvm At = j-—zuti} = A+ C

Know [600 = Slo) =-]6-0"+C ; 52 ¢ = 1600
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1. (6 points) \/_+1 = j(% + U'.!';E)Ax :—j(\ + %-l/z') Cl X

\/—
+l
Xz

-1
2

= X +. + _%-}-_).{'_.LJ‘.C z'/%'l'Z\]_’)? +‘C_,‘

uull | /7_

(7 points) Suppose f(z) is a function for which f'(z) = 2z+cos(z) and its graph passes through

the point (,2). Find f(z).
LN = S SOy = SLZ'.% reos(n ) d¥ = S_jsm(x) +C
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Bur also A= F(w) =T 2 an(T)+C =T +0o+C
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and hence JC & ’W ‘_)
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3. (7 points) A stone is thrown vertically upward with an initial velocity of 8 feet per second.
Assuming the acceleratlon due to gravity is —32 feet per second per second, how long does it take

e o [0~ kg

BA also &= V(o) = =32.04 C Se (j—i‘%#gﬂ]
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L (6 points) [ (3- da:_f(_? x)(3- % ) dne g(q L X .,_7(2)0(K
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2. (7 points) Suppose f(x) is a function for which f/(z) = VG +2 and f(4) = 7. Find f(z).
10(%)=jfét\4 j(x r2 )dx = _:l rox + C
3 27—
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3. (7 points) A freight train travels on a straight track with a constant acceleration. At time £ =0
its velocity is 10 miles per hour. Half an hour later (at ¢ = 0.5 hours) it is traveling at 70 mph.
How far did it travel in the half hour period?
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